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QUESTION 1

Where can Veritas Cluster Server (VCS) users acquire credentials for secure communications between cluster nodes? 

A. Active Directory 

B. Authentication broker 

C. LDAP authentication 

D. VCS SSL broker 

Correct Answer: B 

 

QUESTION 2

A disk displays an X symbol in a red circle. What does this indicate? 

A. There is a potential problem and it should be fixed immediately. 

B. The disk is inaccessible, but the data is healthy. 

C. There is a disk failure and it should be fixed immediately. 

D. The disk is disconnected, but the data is healthy. 

Correct Answer: C 

 

QUESTION 3

Which two are valid shrink operations? (Select two.) 

A. The volume must be online. 

B. The maximum shrink operation is used space plus 15%. 

C. The shrink operation works with RAW file systems. 

D. The shrink operation works only with NTFS file systems. 

E. The volume can be shrunk by as little as 512KB. 

Correct Answer: AC 

 

QUESTION 4

What are the two site-based allocations for the site-aware allocation feature? (Select two.) 

A. site-separated allocation 
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B. site-based allocation 

C. site-specific allocation 

D. site-confined allocation 

E. site-campus allocation 

Correct Answer: AD 

 

QUESTION 5

On how many nodes in a 32-node cluster can the NotifierMngr run simultaneously? 

A. 1 

B. 2 

C. 16 

D. 32 

Correct Answer: D 

 

QUESTION 6

What is the minimum amount of memory required to make Microsoft Hyper-V virtual machines highly available with
Veritas Storage Foundation and High Availability Solutions 6.0 for Windows? 

A. 2GB 

B. 3GB 

C. 4GB 

D. 8GB 

Correct Answer: C 

 

QUESTION 7

Why would an administrator create a campus cluster? 

A. to increase write I/O performance 

B. to decrease downtime 

C. to reduce hardware costs 

D. to simplify the environment 
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Correct Answer: B 

 

QUESTION 8

An administrator needs to configure a database server in cluster. It may take multiple monitor intervals before the
database server is reported ONLINE. Which two attributes need to be considered for the database server resource
type? (Select two.) 

A. OnlineRestartLimit 

B. ToleranceLimit 

C. OnlineWaitLimit 

D. OnlinePriority 

E. OnlineRetryLimit 

Correct Answer: CE 

 

QUESTION 9

Which command is used to validate recent changes made to the cluster configuration? 

A. hasys -verify 

B. haconf -verify 

C. hacf -verify 

D. hastatus?erify 

Correct Answer: C 

 

QUESTION 10

A service group is in a fully online state. What will occur if an administrator temporarily freezes the group and a resource
faults? 

A. The resource enters a faulted state and the group enters a partial state. 

B. The resource enters a partial state and the group attempts to fail over. 

C. The resource enters a partial state and the group enters a partial state. 

D. The resource enters a faulted state and the group attempts to fail over. 

Correct Answer: A 
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QUESTION 11

An organization has a three node cluster with a web service group and a database service group. The database service
group must start first and the service groups must reside on different servers. Which service group dependency will
keep the service groups on separate servers if a critical resource in the database service group faults? 

A. online global 

B. online local 

C. offline local 

D. online remote 

Correct Answer: D 

 

QUESTION 12

An administrator has been tasked with setting up a cluster so that a failing service would take advantage of the system
running the least number of active service groups. Which failover policy should the administrator select? 

A. Priority 

B. RoundRobin 

C. Load 

D. Weighted 

Correct Answer: B 

 

QUESTION 13

Which GAB command is used to verify that the cluster has been seeded? 

A. gabconfig -c 

B. gabconfig -a 

C. gabconfig -x 

D. gabconfig -t 

Correct Answer: B 

 

QUESTION 14

Which Symantec service or product is used to monitor clusters? 

A. Symantec Operations Readiness Tool (SORT) 
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B. Veritas Enterprise Administrator (VEA) 

C. Veritas Operations Manager (VOM) 

D. Symantec Operational Services (SOS) 

Correct Answer: C 

 

QUESTION 15

Which Veritas Storage Foundation and High Availability Solutions 6.0 for Windows installation option facilitates the split
of a dynamic disk group? 

A. Volume Replicator (VVR) 

B. Fast Failover 

C. Global Cluster Option (GCO) 

D. FlashSnap 

Correct Answer: D 
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